Intersection: Escuela Ave at El Camino Real, Mountain View, California
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gov.usdot.asnl.generated.j2735.dsrc.MessageFrame
value MessageFrame ::= ({
messageld 18,
value MapData : {
msgIssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region O,
id 1026
}y
revision O,
refPoint {
lat 373930715,
long -1220964507,
elevation 270
by
laneWidth 330,
speedLimits {
{
type vehicleMaxSpeed,

speed 559
}
by
laneSet {
{
lanelID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x 461,
y 2634
}
b
{
delta node-XY2 : {



delta node-XY2 : {
x 540,
y 808
}
by
{
delta node-XY4 : {
x 935,
y 1864
}
}y
{
delta node-XY2 : {
X 581,
y 564
}
}
}y
connectsTo {
{
connectinglLane {
lane 19,
maneuver {maneuverRightAllowed}
by
signalGroup 4
}
}
bo
{

laneID 2,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x 1079,
y 1934
}
by
{
delta node-XY5 : {
x 2085,
y 4241
}
b
{
delta node-XY5 : {
x 3179,
y 6392

}
b
connectsTo {
{
connectinglLane {
lane 1,



maneuver {maneuverStraightAllowed}
}
bo
{
connectinglLane {
lane 114,
maneuver {maneuverStraightAllowed}
b
signalGroup 4
bo
{
connectinglLane {
lane 11,
maneuver {maneuverLeftAllowed}
by
signalGroup 4

lanelID 3,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedwWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed,
nodeList nodes : {
{
delta node-XY4 : {
x 1345,
y 1607
}
b
{
delta node-XY5 : {
X 2154,
y 4398
}
by
{
delta node-XY5 : {
x 3148,
y 6421

lanelID 4,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
}l

maneuvers {maneuverStraightAllowed, maneuverRightAllowed,

maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1984,
y —-290
by
attributes {

maneuverRightAllowed},



data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
}I
dwidth 30
}
}y
{
delta node-XY4 : {

x 1400,
y —-1581
}
}I
{
delta node-XY4 : {
x 1782,
y —2252
}
bo
{
delta node-XY4 : {

x 1857,
y -2420

}
b
connectsTo {
{
connectinglLane {
lane 3,
maneuver {maneuverRightAllowed}
b
signalGroup 6
b
{

connectinglLane {
lane 19,
maneuver {maneuverStraightAllowed}

}y
signalGroup 6

laneID 5,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1705,
y =576
}
bo
{
delta node-XY4 : {

x 1417,



y -1616
}
bo
{
delta node-XY4 : {
x 1723,
y —2133
}
}I
{
delta node-XY4 : {
x 1942,
y —-2556
}
}
}I
connectsTo {
{
connectingLane {
lane 20,
maneuver {maneuverStraightAllowed}
}I
signalGroup 6

}
by
{

lanelID o,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1450,
y —-784
}
b
{
delta node-XY4 : {
x 1436,
y —-1634
}
b
{
delta node-XY4 : {
x 1741,
y -2136
}
b
{
delta node-XY3 : {
x 1215,
y -1596
}
b
{
delta node-XY3 : {
x 714,
y —-903
}



bo
connectsTo {
{
connectinglLane {
lane 21,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
bo
{
connectingLane {
lane 7,
maneuver {maneuverStraightAllowed}

laneID 7,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1213,
y —-1039
b
attributes {
dWwidth =30
}
b
{
delta node-XY4 : {
x 1368,
y —1547
}
b
{
delta node-XY5 : {
X 2635,
y —3212
}
b
{
delta node-XY2 : {
X 626,
y —-352

}
b
connectsTo {
{
connectinglLane {
lane 14,
maneuver {maneuverLeftAllowed}
by
signalGroup 1
b
{

connectinglLane {
lane 11,



maneuver {maneuverUTurnAllowed}

by
signalGroup 1

laneID 8,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY5 : {
X 2824,
y —4697
by
attributes {
dWwidth 30
}
by
{
delta node-XY2 : {
x 14,
y =523
}
b

{
delta node-XY3 : {

x 1057,
y —-1368
}
by
{
delta node-XY4 : {
x 1323,
y —-1797
}
b

{
delta node-XY2 : {

x 278,
y —-807

}
bo
connectsTo {
{
connectinglLane {
lane 15,
maneuver {maneuverRightAllowed}
b
remoteIntersection {
region O,
id 1027

}
by
{

laneID 9,
egressApproach 4,



laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
X 360,
y —-1885
}
by
{
delta node-XY4 : {
x 1353,
y =1577
}
b
{
delta node-XY3 : {
x 1111,
y —-1235
}
by
{
delta node-XY3 : {
x 986,
y —-1240
}
b
{
delta node-XY4 : {
x 1531,
y —2045

}
b
connectsTo {
{
connectinglLane {
lane 8,
maneuver {maneuverStraightAllowed}
}
by
{
connectingLane {
lane 19,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1027

}
by
{

laneID 10,

egressApproach 4,

laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}

}l

maneuvers {maneuverStraightAllowed},



nodelList nodes : {
{
delta node-XY3 : {
X 621,
y —-1617
}
b
{
delta node-XY3 : {
x 1302,
y —1543
}
by
{
delta node-XY3 : {
x 1071,
y —-1246
}
b
{
delta node-XY3 : {
x 1085,
y —-1319
}
by
{
delta node-XY4 : {
x 1389,
y —-1812
}
}
b
connectsTo {
{
connectingLane {
lane 20,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1027

laneID 11,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
X 860,
y —-1437
}
by
{
delta node-XY3 : {
x 1324,
y —-1533
}



by
{
delta node-XY3 : {
x 1056,
y —-1213
}
b
{
delta node-XY3 : {
x 1055,
y —-1324
}
by
{
delta node-XY4 : {
x 1434,
y —-1875
}
}
b
connectsTo {
{
connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1027

laneID 12,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x —-743,
y —-1691
b
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 559
}
}
by
dwidth -30
}
b
{
delta node-XY3 : {
x -898,
y —843
}
b



delta node-XY2 : {
X -615,
y —-208

}
b
connectsTo {
{
connectinglLane {
lane 9,
maneuver {maneuverRightAllowed}
by
signalGroup 4

}
I
{
laneID 13,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x —-994,
y —1459
}
by
{
delta node-XY3 : {
x -1262,
y -1283
}
b
{
delta node-XY4 : {
x -1981,
y —-3521

}
b
connectsTo {
{
connectinglLane {
lane 12,
maneuver {maneuverStraightAllowed}
}
by
{
connectingLane {
lane 3,
maneuver {maneuverStraightAllowed}
b
signalGroup 4
b
{
connectinglLane {
lane 21,
maneuver {maneuverLeftAllowed}
by
signalGroup 4



laneID 14,

egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedwWith {},

laneType vehicle

s

maneuvers {maneuverLeftAllowed,

nodelList nodes

{

delta node-XY3

x -1301,
y -1203
}
by
{

delta node-XY2

x -546,
y =327
}
}’
{

delta node-XY1

x -476,
y 159
}
}y
{

delta node-XY2

x -714,
y 263
}
}’
{

delta node-XY2

x =576,
y =115
}
}y
{

delta node-XY2

x —-467,
y —-565
}
}’
{

delta node-XY4

x -1689,
y —=3037
}
}
}
laneID 15,

{

ingressApproach 7,

laneAttributes {
directionalUse {ingressPath},
sharedWith {},

laneType vehicle

by

{}

{

{}

maneuverRightAllowed},

maneuvers {maneuverStraightAllowed, maneuverRightAllowed,



maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x -2060,
y 579
b
attributes {
data |
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
b
dwidth 30
}
b
{
delta node-XY4 : {
X -1893,
y 1768
}
by
{
delta node-XY4 : {
x -1672,
y 1389
}
b
{
delta node-XY3 : {
X —-1424,
y 1167
}
by
{
delta node-XY4 : {
x —-1650,
y 1308
}
b
{
delta node-XY3 : {
x -1175,
y 814

}
b
connectsTo {
{
connectinglLane {
lane 114,
maneuver {maneuverRightAllowed}
b
signalGroup 2
b
{
connectinglLane {
lane 9,
maneuver {maneuverStraightAllowed}
b
signalGroup 2



lanelID 160,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
X -1850,
y 880
}
by
{
delta node-XY4 : {
x -1877,
y 1741
}
b
{
delta node-XY4 : {
X -1599,
y 1449
}
by
{
delta node-XY3 : {
x -1522,
y 1147
}
b
{
delta node-XY4 : {
x -1614,
y 1276
}
by
{
delta node-XY3 : {
x -1212,
y 803
}
}
b
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverStraightAllowed}
b
signalGroup 2

}
by
{

laneID 17,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
}l



maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x -1643,
y 1168
}
b
{
delta node-XY4 : {
x -1802,
y 1701
}
b
{
delta node-XY4 : {
x —-1647,
y 1422
}
b
{
delta node-XY3 : {
x -1471,
y 1173
}
b
{
delta node-XY4 : {
x -1940,
y 1499
}
b
{
delta node-XY3 : {
x =980,
y 631
}
}
b
connectsTo {
{
connectinglLane {
lane 11,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
b
{
connectinglLane {
lane 18,
maneuver {maneuverStraightAllowed}

laneID 18,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodeList nodes : {

{



delta node-XY3 : {
x -1410,
y 1434
b
attributes {
dWwidth =30
}
b
{
delta node-XY4 : {
x -1788,
y 1677
}
b
{
delta node-XY4 : {
x -1608,
y 1431
}
b
{
delta node-XY4 : {
X —-3189,
y 2452
}
b
{
delta node-XY1 : {
x =508,
y —-31
}
}
b
connectsTo {
{
connectinglLane {
lane 3,
maneuver {maneuverLeftAllowed}
b
signalGroup 5
by
{
connectingLane {
lane 21,
maneuver {maneuverUTurnAllowed}
b
signalGroup 5

laneID 19,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =596,
y 2465
by
attributes {



dwidth 30
}
b
{
delta node-XY4 : {
X -1640,
y 1458
}
by
{
delta node-XY4 : {
x -1732,
y 1564
}
}
b
connectsTo {
{
connectingLane {
lane 3,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1025

laneID 20,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY4 : {
X —-862,
y 2183
}
by
{
delta node-XY4 : {
x —-1654,
y 1446
}
b
{
delta node-XY4 : {
x -1729,
y 1572

}
bo
connectsTo {
{
connectinglLane {
lane 4,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,



id 1025

laneID 21,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1089,
y 1857
}
by
{
delta node-XY4 : {
x -1571,
y 1455
}
b
{
delta node-XY4 : {
x -1814,
y 1578

}
br
connectsTo {
{
connectinglLane {
lane 5,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1025

laneID 22,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodeList nodes : {
{
delta node-XY4 : {
x 49,
y 2901
b
attributes {
dWwidth =30
}
b
{
delta node-XY3 : {



x 1077,
y —-1298
}
b
{
delta node-XY3 : {
x 1160,
y -1086
}
}
by
connectsTo {
{
connectinglLane {
lane 23,
maneuver {maneuverRightAllowed}
b
signalGroup 14
bo
{
connectinglLane {
lane 24,
maneuver {maneuverLeftAllowed}
b
signalGroup 14
}
}
b
{
lanelID 23,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
by
nodelList nodes : {
{
delta node-XY4 : {
X 2382,
y 339
}
by
{
delta node-XY4 : {
x -1448,
y —-1452
}
b
{
delta node-XY3 : {
x -1015,
y —-1056
}
}
by
connectsTo {
{
connectinglLane {
lane 22,
maneuver {maneuverLeftAllowed}
bo
signalGroup 12



laneID 24,
laneAttributes {

directionalUse {ingressPath,

sharedWith {},

laneType crosswalk

b
nodelList nodes : {
{
delta node-XY4
x —-2300,
y 89
}
by
{
delta node-XY3
x 1159,
y 1433
}
b
{
delta node-XY3
x 1057,
y 1432

}
by

connectsTo {

{

connectinglLane {

lane 22,

egressPath},

maneuver {maneuverRightAllowed}

}y
signalGroup 12

}



